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> with(ScientificConstants);
|AddConstant, AddElement, AddProperty, Constant, Element, GerConstant, GetConstanis, GetElement,

GetElements, GetError, Getlsotopes, GetProperties, GetProperty, GetUnit, GetValue, HasConstant,
HasElement, HasProperty, ModifyConstant, ModifvElement|
— \ D AY
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> falleq:= m* diff(y(t), t$2) = - g * m ;

2[ t THMHT B S el B FEAME B 1000H5
0)=0], y(t));/ YREONSERET

> fallsol:= dsolve([falleq, v(0)=1000, D(y)(O

fallsol = w1 ] o+ 1000
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: -aii::
> falleq2:= eval( y(t), subs( {g= evalf(g)},fallsol));
falleg2 = -4.903325000 ¢~ + 1000

> g:= Constant('qg’');

> plot(falleq2, t=0..10, title="free fall", labels=["time", "y(t)"],
font=[times,ROMAN,10]);
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Q(t)
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> with(DEtools); R ETDY—IZESES
> Lecircuit:= L* diff(Q(t), t$2) + (1/C)* Q(t) = p * cos(w't); <« RHEH 2 EMHHIE
<
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LCcircuit :

20t

> dsolve(LCcircuit, Q(t));

c1.P cos(wi) C
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sinl
'
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> LCcircuit2:=subs( {p=0, L=1, C=1, w=2*Pi}, LCcircuit);

o \ ) INTGA—=H—ZA U, LCcircuit2& U 1z
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] L=1,C=1, 0=2m

> dsolve( {LCcircuit2, Q(0)=1, D(Q)(0)=0}, Q(t));

Om=costny  SEREZME. QO0)=1,dQ0)dt=0 & LTQW) =&\

> solLCcircuit2:= eval(Q(t), dsolve( {LCcircuit2, Q(0)=1, D(Q)(0)=0}, Q(t)));
solL Ceircuit2 = cos(r)
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> plot(soliCeircuit2, t=0..4*pi);  golLCcircuit2’Z =0D54nFE TIEEIU fc
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LCcircuit3:=subs( {p=1, L=1, C=1, w=0.5*Pi}, LCcircuit);
solLCcircuit3:= eval(Q(t), dsolve( {LCcircuit3, Q(0)=1, D(Q)(0)=0}, Q(t)));
plot( solLCcircuit3, t=0..4*Pi);
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